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1) If cos(x):%, and 0 <x <%,then tan(x ) =

V7 3 J7 4
& B+ @Y Dof

2) Iffx —3|=5 ,then x =

[4] -8 or2 [B] -8 or —2 E—ZorS [D]2 or 8
3) If the graph of the function f (x )=7" is shifted a distance 5 units to the
right, then the new graph represented the graph of the function is

76:+9) g 769 [c]7* +5 D] 7% -5
4 Iff(x)=x+2,and g(x)=x +5, then (fg)(x)=
Al x2-7x +10 B x%+7x +10 |
[c]lx*-3x 10 [D]x*+3x -10
5) If £ (x)=+/x +2,and g(x)=+x +5, then D, is

[2,00) [—5,00) \,@[—2,00) D] [5,00)

tan’x =

6)

1+sec’x —sec’x —1 ﬂseczx =1 [D]1-sec’x

7) The solution of the inequality 5x +3 <3x +35is
T (=0,) (—,4] (~0,4) D] (—o,1]

8) If f (x)=x"+7x +10, g(x)=x +2, and x = -2, then (ji)(x)z
g

5-x  JB x+5 [c]-x-5 B]x -5
9) If £ (x)=+x , and g(x)=sinx?, then (f og)(x )=
\/E [B] sinx \me @Sinx/—x-
10) (-3,2)\[0,5) =
(-3,0] BT (-3.0) (2,5)  [DI[2.5)
11) The function f (x)=4x’+x°>+1is
[4] Even Odd Even and odd ﬁ/ Neither even nor odd

The solution of the inequality x >—x —2>0is
\EH(—OO -HU(2,) (—o0,=1]U[2,0)
[c1(=o0,-2)U(1,0) [D] (=00, —2]U[L,0)




x +9
x2+3x 10

[4]R\{-2,5} R\{-5,-2} @\{—5,2} [D]R\{2,5}

13) Find the domain of the functionf (x ) =

14) 240° =

i@rad. 5—ﬂ—rad. 5—ﬂ-rad. D] EZZ-—rad.
3 3 6 3
15) 4% rad =
[4]120° [B]150° v@/24o° [D]300°
16) The solution of the inequality —2 <3x —35 < 7is
A(14) B[4 [EL4) D] 14
1 s
17) sinx
cotx tanx secx L@{ﬁscx

18) The slope the line perpendicular to the line 5y —7x —1=0 is

5 7 7 5
FRE s C.____ —
= Bl ; bl

19) Find the domain of the functionf (x ) =</2-x .

4 (2] [E[29) JER=(-o»)  Dl[-2x)

20) The equation of the line passes through the points(—l, 3) and (1, 7)is
y:2x-5 y=2x+1 y:Zx—l @3}:2)5-}-5

21) Find the domain of the functionf (x )=v2-x2.
Do) B (B
2 [~2.42] Bl(-2.42)

22) Find the equation of the line through the point (—1,3) with slope -2.
y=-2x-5 [Bly=-2x+5 é,@/y =2x+1 [D]y=-2x-1

23) tan (16[—] =

V3 ,@/ I >
4]3 o el — =
2 3 D) V3
24) The solution of the inequality |x — 7‘ <2 is
VA [5,9] (5,9)

(—OO’ 5) U (99 OO) @ (—-OO, 5] U [9: OO)




25) The solution of the inequality lx - 7| >2 is

41[5,9] (5,9) €] (=0,5)U(9,%0) 1B (~0,5]U[9,0)

26) If £ (x)=x*+x>+9,and g(x)=-2x" -1, then (f —g)(x)=
Axi-x+8  [Blx*-x2+10 [Clx’+3x%+8 B x>+3x2+10

27) Find the range of the functionf (x )=+vx =2,

(=:0] R =(-0,0) LE1[0.0) [D][2,0)

28) Find the equation of the line with slope =5 and y —intercept —2 is -
4]y =-5x +2 @y-:—Sx—2
lc]ly =5x +2 [D]y =5x -2

29) The distance between the points (—2,1) and (2,—1) is

2@ B35 [lV6 [Dl2

30) The function f (x)=log,x is
Power Exponential @; Logarithmic [D] Trigonometric




